Installation instructions for 24.3807, 24.3808

Under Run Protective Shield Engine Bay and Transmission Case

Model year:

Part Number:

Weight:

Installation Time:

TOYOTA RAV4

RAV4 - 2019

Steel: 24.3807
Aluminium: 24.3808

Steel: 12,10 kg
Aluminium: 8,80 kg

30 min



24.3807, 24.3808

1X

N

< | H O | 9| D

2% H[O 16004 2x h=10 2x M8x16 2x M8x30 2x

o | @ | ©

d=8
M10x40 2x M10x90 2x M10x1,25  2x 4x d=10 4x
K|
d=8 d=10 i
4x 4x 2X
Part number: Revision: Date: Page:
24.3807 243808 17.06.19 TOYOTA RAV4 2019 /5




SN
© ®
n ° © @ = @ ®
- : -
A 4 ° ;
o @ - 5

Q
see_repair manual

£

Part number: Revision: Date: Page:
24.3807 243808 17.06.19 TOYOTARAV4 2019 25




Part number: Revision: Date: Page:
24.3807 243808 170619 TOYOTA RAV4 2019 4?5




Regular fastener

Part number: Revision: Date: Page:
24.3807 243808 170619 TOYOTARAV4 2019 o

see repair manual

\ @ ‘

[ I o




	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5

